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Following are the three common errors in a network construction: 

Looping (cycling) In a network diagram looping error is also known as cycling 

error. Drawing an endless loop in a network is known as error of looping. A loop 

can be formed if an activity were represented as going back in line. 

 

 

Dangling To disconnect an activity before the completion of all the activities in a 

network diagram is known as Dangling. 

 

 

 

Redundancy If a dummy activity is the only activity emanating from an event and 

which can be eliminated is known as redundancy. 
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Numbering the Events 

 

After the network is drawn in a logical sequence every event is assigned a number. 

The number sequence must be such so as to reflect the flow of the network. In 

numbering the events the following rules should be observed. 

(i) Event numbers should be unique. 

(ii) Event numbering should be carried out on a sequential basis from left to right. 

(iii) The initial event which has all outgoing arrows with no incoming arrow is 

numbered as 1. 

(iv) Delete all arrows emerging from all the numbered events. This will create at 

least one new start event out of the preceeding events. 

(v) Number all new start events 2,3 and so on. Repeat this process until all the 

terminal event without any successor activity is reached, number the terminal node 

suitably. 

Note: The head of an arrow should always bear a number higher than the one 

assigned to the tail of the arrow. 

 

 



University of Anbar                                       Course Title: construction management         

College of Engineering                           Year:( 3)  Civil Eng. Department                                      

Dr. Juma'a. Awad. AL-Sumaydaei                               2018- 2019  

(3+2الوحبضرة )   

 

81 

 

 

 

 

 

 

EXAMPLE4 : Construct a network for the project whose activities and their 

precedence relationships 

are as given in table : 

 

 

Solution From the given constraints, it is clear that A, D are the starting activity and I the 

terminal activity. B, C are starting with the same event and are both the predecessors of the 

activity F. Also E has to be the predecessor of F. Hence, we have to introduce a dummy activity: 

 

 

D1 is the dummy activity. 

Finally we have the following network. 
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EXAMPLE 5 : Construct a network for the project whose activities and their precedence 

relationships are as given in Table.2. 
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TIME ANALYSIS 

 

Once the network of a project is constructed the time analysis of the network 

becomes essential for planning various activities of the project. An activity time is 

a forecast of the time an activity is expected to take from its starting point to its 

completion (under normal conditions). 

We shall use the following notation for basic scheduling computations. 

 

(i, j) = Activity (i, j) with tail event i and head event j 

Tij = Estimated completion time of activity (i, j) 

ESij = Earliest starting time of activity (i, j) 

EFij = Earliest finishing time of activity (i, j) 

(LS)ii = Latest starting time of activity (i, j) 

(LF)ij = Latest finishing time of activity (i, j) 
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